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1. 1 hAZDERPZEFHE
1 HRCEIC TERERR RU BEERR OasHRzEL L. HERHES
BEMBELET, 1 AREIETVIETET,

7. 2 RS OERNZEER
1 WBCEICHBEULIZMEEGE L. 2 HRDOREZSELET,

ERRIETEA
2HRATHIAX—MIVERLERS

7. ERKEDZE
D1 AR 2B A—bIV @1 HR 23iIKBX—HIL [CHEIT S,

1. 1 hBZEDERMZEFHE

D1 HH 22375 X=H)b
660 3 (EAERAH) + 2,5138 (BaERAM) = 3,113 8 (S5t8)
3,113 (5518R) x 10% CHEM) = 31TH CHEHHEZER)
3,173 (55188) + 31TH CHERHE=ER) = 3,490 F3---A

@1 7B 2337/ AX—=HIb
660 3 (EAERAH) + 2,6607H (BEERAN) = 3,327TH (S5t8)
3,32TH (5518R) x 10% CHEM) = 3321 CHEHHEZHR)
3,32TH (5518R) + 332 CHERME=®R) = 3,659 B

7. 2 RS DOERNZEEER
3,490 (A) + 3,659F (B) = 7,149 1



